SAP ABAP table TIV80 {Allocation of clearing accounts to cost accounts}

CSKA

TIV80-KOSTKTO = CSKA-KSTAR

eI 0. N | MANDT [CLNT (3)]
P KTOPL [CHAR (4)]

- TIV80-ENTLKTO = SKAL-SAKNR KSTAR [CHAR (10)]
TIVB0-ENTLNAV = SKA1-SAKNR N
T “0.N O.N

TIV80-VERRKNAV = SKA1-SAKNR SKAl

—_ —_—
—_— _— - —

MANDT [CLNT (3)]

_________________________ 0..N [KTOPL [CHAR (4)]
TIVBO-VERRKTMYV = SKA1-SAKNR _ 0-N |SAKNR [CHAR (10)]

—_—— P

N TIV80 -VERRKTMVNW = SKA1- SAKNR 0N 0..N

s\\\ ,’/ V2

e e e e L e e = - e
7

TIV80 VERRKTO = SKA1-SAKNR _ 7

-

_— —_ —_—

Tt~ TOO0O

TIVB0-KTOPL = T004-KTOPL 0.N [ MANDT [CLNT (3)]

RN TOO4
T T e - MANDT [CLNT (3)]
KTOPL [CHAR (4)]




